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27| 5| 20|{EESIRENE (FTH) 350,000 350,000
27 5 21| EGRREIRIE 6,120 343,880
27| 5| 29|/ EHARE R 15,104 328,776
27| 5| 29|/~ HARE LR 25,308 303,468
27| 6|  2|/nEHRE AR 70,839 232,629
27 6| S|Av T H—RIvIRIEN 8,510 224,119 8,510
271 6| 15|WHESZNE (7/13) 7,108 217,011 7,108
27| 6| 16|mEEmAR (BkEE TEIT) 3,305| 213,706 3,305
271 6| 17|23 —=#E(6/30) 8,108| 205,598 8,108
27| 6| 17[IRERAKES L (B)F) 1,640| 203,958
27 6| 26| AL Ky RIEED) 3,554 200,404 3,554
27| 6| 30|WHESZF#EE(7/8~9/25) 24,108| 176,296| 24,108
27 7 1|WHESZREE(7/20) 2,108 174,188 2,108
27| 7| 1554 T ARIED 4,619| 169,569
271 7| 20|/AHUHKED R E 5,570 163,999
27 7 21|EHE 43,416| 120,583
271 7| 24|WHESZ R (7/29) 5,108| 115,475 5,108
27| 7| 30|LASAFREET A 4y 823| 174,652 823
27| 7| SL{RERARHIEE 113,400 1,252
27| 8| T|SERARE LR 16,898| -75,646
271 8| 10[&3IF—=#EH(8/10) 5,000\ -20,646 5,000
27| 8| 11|/~ ERARES S 85,170| -705,816
27 8| 21|FEEEE AR (RFHEAEDIHE) 1,000{ -706,816 1,000
27| 8| 26|FEEEHEAL (RGN T ) 2,306| —109,122 2,306
27| 8| 28|LASAMRIESH 4y 823| -109,945 823
27| 9|  A|RERAKES R (B)F) 3,280| —713,225
271 9| 15|WHESZ=MNE (10/3~4) 27,000| 740,225 27,000
27 9] 25|LASAMRIEIH 4y 823| —741,048 823
JNEF 350,000\ 491,048\ -141,048| 78,540 12,634 8,510
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AT ELY 350,000\ 491,048\ -141,048| 78,540 0 0| 12634 391,364 8,510 0 0
27( 10[ 9|3 F—=Z#HE (10/9~2/19) 10,000| -757,048| 10,000 4
27| 10| 20(EoEsIEENE (2H)) 420,000 268,952
27| 10| 22|WFE=SINE (10/22) 2,000| 266,952 2,000 5
27| 10[ 25|JAEUHEREIRIE 19,730 247,222 19,730 20
27| 10[ 25|/AEUHREIRIE 7,365 239,857 7,365 20
27| 10| 27|EfEA 27,432\ 212,425 27,432 21
27| 10| 27[/RHRARE L (W) F) 820| 211,605 820 22
27| 11| 6|/~ HARE EE 16,014| 195,591 16,014 22
27| 11| 9|EEA T AR 3,240 192,351 3,240 20
27| 11|  9|SHEE =R 84,609| 107,742 84,609 23
27| 11| 18|J/RERARE L (W) F) 1,740| 106,002 1,740 24
27| 11| 28|BEHEAL B ELA M%) 2,311 103,691 2,311 13
27| 12|  3|IRERAKES SR (B)F) 3,280 100,411 3,280 23
27| 12| 15|WfHE==FEE(1/10) 5,108| 95,303 5,108 6
28| 1| S|IAERHKENRIE 16,650 78,653 16,650 21
28| 1| S|IAERHKENRIE 5,565 73,088 5,565 25
28| 1| 22|/ EHRE ! 16,916 56,172 16,916 26
28| 1| 24|WHESZINE (1/24) 3,000| 53,172 3,000 7
28| 1| 25|LASAMREELA 4y 823| 52,349 823 14
28| 1| 25|/ ERHRE AR 84,303 -37,954 84,303 26
28| 1| 28|EEA 27,432 -59,386 27,432 25
28| 2| 5|4 H—=RIvIRUFH 8,859| 68,245 8,859 27
28| 2| 8|&IF—mE (2/8) 2,000| -70,245 2,000 6
28| 2| 25|LASARREE2H 4y 823| -71,068 823 14
28 3| S|REAREEE (B1F) 2,460| -73,5628 2,460 24
28| 3| 29|LASAMREESH 4y 823| -74,351 823 14
28| 3| 31|&IR‘LHZE 25,530 -99,881 25,530 28
JNEF 770,000| 869,881\ -99,881| 100,648 0 0| 17414 708,920 17,369 25,530 0
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